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Solution of QUIZ NO. 6 – Sections 02 & 03 
Analysis of Structural Trussed in 2D             Wednesday, April 24, ‘02


1. Explain the two methods used to analyze trusses.

a) The method of joints: draw a FBD for each joint alone and apply two equations of force equilibrium. The equations used are:  Fx = 0; Fy = 0.
b) The method of sections: draw a FBD of a separate substructure of the truss for a selected section. Then apply one or more of the equations of equilibrium to determine a force in a member. The equations used are:  Fx = 0; Fy = 0; Mp = 0.


 2.  Analyze the following truss for support reactions, indicate all zero force members, and force in member CD.

Fy = 0: Ay –200 =0
Ay = 200 kN (upwards).

MA = 0:  Bx(3) – 200 (2)=0

               Bx = + 133.333 kN.

 Fy = 0: Bx + AX =0

Ax  = - 133.333 kN (       )
Zero force members are shown with a red line crossing each zero force member.

To compute FCD we may use either the method of joints (using section aa) or the method of sections (using section bb and ME = 0).

In this problem the method of joints is much simpler.

Let us however use the method of sections based on the shown FBD.

ME = 0:

133.333(3) –200(2) – FCD cos 36.9o (3) – FCD sin 36.9o (2) = 0 

This gives FCD  =0.
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Note: there will be 10% for neatness of presentation.


